Subtraction
Worksheet-1

A] Choose the correct answer.

1. If a number is subtracted from itself, then the result is

a) Number itself b) Zero
c)1 d) None of these

2. be added to 186784 to get 399821.

a) 212037 b) 214037
¢) 223037 d) 213037

3. The number 1 less than 100000 is

a) 100001 b) 99999
c) 99990 d) 999991

4. What should be subtracted from 823824 to get 5017867?

a) 322038 b) 222038

c) 235. A school has Rs. 5980312 in the bank, they have spent Rs.
1260356 on school building renovation. How much money remain in
the bank now?

a) Rs. 4729956 b) Rs. 4719956
¢) Rs. 4739956 d) Rs. 4619956

6. 99999 — =99999

a)l b) 2
c)0 d) None of these




b) 4890
d) None of these

a) 602984 b) 601984
c) 610984 d) None of these

3038 d) 322039

9. What is the difference between greatest 6-digit number and
smallest 6-digit number?

a) 889999 b) 899999
c) 888999 d) None of these

10. Bob received a prize of $ 875000, out of which he donated $
123650 to an old age home, $ 25775 to an orphanage and $ 225000 to
a school. Find the balance amount left with him?

a) $ 500675 b) $ 500775
¢) $ 500575 d) $ 600575

B] Subtract

1. 5432513 from 9579636.
2. 275428 from 542376.
3. 246587 from 879898.
4. 76789 from 456890




5. 45679 from 897654

C] Solve the following

1. Jane took 356 minutes to complete homework in English and
Mathematics. She took 204 minutes to complete English. How much
time she took to complete Mathematics?

2. There are 4500 books in a library. They are either written in
English or French. If 2894 books are in English Language, then how
many books are in French language?

3. Mike had $4876 in his savings bank account. He withdrew $1873.
How much money does he have now in his savings bank account?

4. Tom has $7800 in his bank. He withdrew $2340 on Monday and
$2670 on Tuesday. What amount is still left in his bank account?

5. By how much is 3756 less than 543347
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